

# Normality in Idempotent Commutative $\Gamma$ -Semi group

[1] S. Suguna, [2] D. Radha
[1] II M.Sc (Mathematics), [2] Assistant Professor of Mathematics
[1][2] A. P. C. Mahalaxmi College for Women, Thoothukudi, Tamilnadu, India.

Abstract:- In this paper, a normality in an idempotent commutative  $\Gamma$ -semigroup is defined. A notion of left (right) normal, left (right) quasi-normal, regular, normal, left (right) semi-normal, left (right) semi-regular, in a normal idempotent commutative  $\Gamma$ -semigroup S are defined. Any left (right) normal is left (right) quasi-normal in an idempotent commutative  $\Gamma$ -semigroup and vice versa. Also, it is regular if and only if it is normal and the same statement is proved with respect to semi-regular and semi-normal substructure. Any quasi-normal is also semi-regular as well as semi-normal and also the converse in an idempotent commutative  $\Gamma$ -semigroup. In a commutative idempotent  $\Gamma$ -semigroup, left regularity implies both left and right normality.

Keywords:- $\Gamma$ -semigroup, idempotent, commutative, left and right regular, left and right normal, left and right quasi-normal, left and right semi-normal, left and right semi-regular.

#### I. INTRODUCTION

The formal study of semigroups began in the early 20<sup>th</sup> Early results include a Cayley theorem for semigroups realizing any semigroup as transformation semigroup, in which arbitrary functions replace the role of bijections from group theory. Other fundamental techniques of studying semigroups like Green's relations do not imitate anything in group theory though. In other areas of applied mathematics, semigroups are fundamental models for linear time-invariant systems. As a generalization of a semigroup SEN [17] introduced the notion of  $\Gamma$ -semigroup in 1981 and developed some theory on  $\Gamma$ -semigroup. JIROJKL, SRIPAKORN, CHINRAM extended many classical notions of semigroups to  $\Gamma$ -semigroup. DUTTA, T.K. CHATTERJE [5] genelized the green's relations in semigroups to  $\Gamma$ -semigroups.

In mathematics a  $\Gamma$ -semigroup is an algebraic structure consisting of a set together with an associative gamma operation. Associativity is formally expressed as that  $(x\gamma_1y)\gamma_2z = x\gamma_1(y\gamma_2z)$  for all x, y, z in semigroup and  $\gamma_1,\gamma_2$  in gamma semigroup and in this full paper Normal Idempotent Commutative Gamma Semigroup satisfying some properties.

#### 2. PRELIMINARIES

In this section we present some basic concepts of  $\Gamma$ -semigroup and definitions needed for the study of this chapter.

#### 2.1 Definition:-

Let  $S = \{a, b, c, ...\}$  and  $\Gamma = \{\gamma_1, \gamma_2, ... ...\}$  be two nonempty sets. S is called  $\Gamma$ -semigroup.

- (a)  $ayb \in S$ ;
- (b)  $(a\gamma_1 b)\gamma_2 c = a\gamma_1 (b\gamma_2 c)$  for all a, b, c in S and  $\gamma_1, \gamma_2$  in  $\Gamma$ .

# 2.2 Definition:-

An element a of  $\Gamma$  -semigroup S is said to be an *idempotent*. If  $a\gamma a = a$  for all  $\gamma$  in  $\Gamma$ .

## 2.3 Definition:-

A  $\Gamma$ -semigroup S is said to be *commutative* provided  $\alpha yb = bya$  for all a, b in S and  $\gamma$  in  $\Gamma$ .

#### 2.4 Definition:-

A  $\Gamma$ -semigroup S is called *left (right) regular*, if it satisfies the identity  $a\gamma_1b\gamma_2a = a\gamma_1b$  ( $a\gamma_1b\gamma_2a = b\gamma_2a$ ) for all a,b in S,  $\gamma_1,\gamma_2 \in \Gamma$ .

#### 2.5 Definition:-

A  $\Gamma$ -Semigroup S is called *regular* if it satisfies the identity  $a\gamma_1b\gamma_2c\gamma_3a=a\gamma_1b\gamma_2a\gamma_3c\gamma_4a$  for all a,b,c in S and  $\gamma_1,\gamma_2,\gamma_3,\gamma_4 \in \Gamma$ .

#### 2.6 Definition:-

A  $\Gamma$ -semigroup S is said to be  $left\ (right)\ normal$  if  $a\gamma_1b\gamma_2c=a\gamma_1c\gamma_2b\ (a\gamma_1b\gamma_2c=b\gamma_1a\gamma_2c)$  for all a,b,c in S and  $\gamma_1,\gamma_2\in\Gamma$ .



#### 2.7 Definition:-

A  $\Gamma$ -semigroup S is said to be *normal* if it satisfies the identity  $a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1c\gamma_2b\gamma_3a$  for all a, b, c in S and  $\gamma_1, \gamma_2, \gamma_3 \in \Gamma$ .

## 2.8 Definition:-

A  $\Gamma$ -semigoroup S is said to be *left (right) quasi-normal*, if it satisfies the identity  $a\gamma_1b\gamma_2c = a\gamma_1c\gamma_2b\gamma_3c$  ( $a\gamma_1b\gamma_2c = a\gamma_1b\gamma_2a\gamma_3c$ ) for all a,b,c in S and  $\gamma_1,\gamma_2,\gamma_3$  in  $\Gamma$ .

#### 2.9 Definition:-

A  $\Gamma$ -semigroup S is said to be *left (right) semi-normal* if it satisfies the identity  $a\gamma_1b\gamma_2c\gamma_3a=a\gamma_1c\gamma_2b\gamma_3c\gamma_4a$   $(a\gamma_1b\gamma_2c\gamma_3a=a\gamma_1b\gamma_2c\gamma_3b\gamma_4a)$  for all a,b,c in S and  $\gamma_1,\gamma_2,\gamma_3,\gamma_4$  in  $\Gamma$ .

#### 2.10 Definition:-

A  $\Gamma$ -semigroup S is said to be *left (right) semi-regular* if it satisfies the identity

 $a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1b\gamma_2a\gamma_3c\gamma_4a\gamma_5b\gamma_6c\gamma_7a$   $(a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1b\gamma_2c\gamma_3a\gamma_4b\gamma_5a\gamma_6c\gamma_7a)$  for all a, b,c in S and  $\gamma_1, \gamma_2, \gamma_3, \gamma_4, \gamma_5, \gamma_6, \gamma_7$  in  $\Gamma$ .

#### 3. Normality in Idempotent Commutative $\Gamma$ -Semigroup:-

In this section, we will see various theorem on normal idempotent commutative gamma semigroup satisfying some properties.

#### 3.1 Theorem:-

An idempotent commutative  $\Gamma$ -semigroup S is left (right) normal if and only if it is left (right) quasi-normal.

#### Proof:

Let S be an idempotent commutative  $\Gamma$ -semigroup. Now, let S be left normal, then  $a\gamma_1b\gamma_2c = a\gamma_1c\gamma_2b$   $=>a\gamma_1b\gamma_2c\gamma_3c = a\gamma_1c\gamma_2b\gamma_3c =>a\gamma_1b\gamma_2c = a\gamma_1c\gamma_2b\gamma_3c$   $[c\gamma_3c=c]$ . Therefore S is left quasi-normal. Conversely, let S be a left quasi-nromal, then  $a\gamma_1b\gamma_2c$   $a\gamma_1c\gamma_2b\gamma_3c =>a\gamma_1b\gamma_2c = a\gamma_1c\gamma_2c\gamma_3b[b\gamma_3c=c\gamma_3b] =>a\gamma_1b\gamma_2c = a\gamma_1c\gamma_2b\gamma_3c = a\gamma_1c\gamma_2b\gamma_3c = a\gamma_1c\gamma_2b\gamma_3c = a\gamma_1b\gamma_2c = a\gamma_1c\gamma_2b\gamma_3c = a\gamma_1b\gamma_2c = b\gamma_1a\gamma_2c =>a\gamma_1a\gamma_2b\gamma_3c = a\gamma_1b\gamma_2a\gamma_3c [a\gamma_2b=b\gamma_2a] =>a\gamma_2b\gamma_3c = a\gamma_1b\gamma_2a\gamma_3c [a\gamma_2b=b\gamma_2a] =>a\gamma_2b\gamma_3c = a\gamma_1b\gamma_2a\gamma_3c [a\gamma_1a=a]$ . Therefore S is right quasi-normal. Conversely, let S be right quasi-normal, then  $a\gamma_1b\gamma_2c = a\gamma_1b\gamma_2a\gamma_3c = a\gamma_1b\gamma_2c = b\gamma_1a\gamma_2a\gamma_3c [a\gamma_1b=b\gamma_1a] =>a\gamma_1b\gamma_2c = b\gamma_1a\gamma_2c = b\gamma_1a\gamma_2c = b\gamma_1a\gamma_2c = b\gamma_1a\gamma_2c = a\gamma_1b\gamma_2c = b\gamma_1a\gamma_2c = a\gamma_1b\gamma_2c = b\gamma_1a\gamma_2c = a\gamma_1b\gamma_2c = b\gamma_1a\gamma_2c = a\gamma_1b\gamma_2c = a\gamma_$ 

#### 3.2 Theorem:-

An idempotent commutative  $\Gamma$ -semigroup S is regular if and only if it is normal.

#### Proof:-

Let S be an idempotent commutative  $\Gamma$ -semigroup. Assume that S is regular, then  $a\gamma_1b\gamma_2c\gamma_3a=a\gamma_1b\gamma_2a\gamma_3c\gamma_4a=$   $a\gamma_1b\gamma_2c\gamma_3a=a\gamma_1b\gamma_2c\gamma_3a\gamma_4a$   $[a\gamma_3c=c\gamma_3a]=$   $=>a\gamma_1b\gamma_2c\gamma_3a=a\gamma_1b\gamma_2c\gamma_3a$   $[a\gamma_4a=a]=$   $=>a\gamma_1b\gamma_2c\gamma_3a=a\gamma_1c\gamma_2b\gamma_3a$   $[b\gamma_2c=c\gamma_2b]$ . Therefore S is normal.

Conversely, assume that S is normal, then  $a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1c\gamma_2b\gamma_3a => a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1b\gamma_2c\gamma_3a$  [ $c\gamma_2b = b\gamma_2c$ ]  $=> a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1a\gamma_2b\gamma_3c\gamma_4a = [a = a\gamma_1a]$   $=> a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1b\gamma_2a\gamma_3c\gamma_4a$  [ $a\gamma_2b = b\gamma_2a$ ]. Hence S is regular.

#### 3.3 Theorem:-

A normal idempotent commutative  $\Gamma$ -semigroup S is left semi-normal if and only if it is left and right semi-regular.

#### Proof:-

Let S be a normal idempotent commutative  $\Gamma$ -semigroup. Assume that S is left semi-normal. Then  $a\gamma_1b\gamma_2c\gamma_3a =$  $a\gamma_1 c\gamma_2 b\gamma_3 c\gamma_4 a => a\gamma_1 b\gamma_2 c\gamma_3 a$  $=a\gamma_1a\gamma_2c\gamma_3b\gamma_4b\gamma_5c\gamma_6a$  $[a = a \gamma_1 a \& b \gamma_4 b = b]$  $=> a\gamma_1 b\gamma_2 c\gamma_3 a = a\gamma_1 a\gamma_2 b\gamma_3 c\gamma_4 b\gamma_5 c\gamma_6 a$  $[c\gamma_3 b = b\gamma_3 c] = > a\gamma_1 b\gamma_2 c\gamma_3 a =$  $a\gamma_1b\gamma_2a\gamma_3c\gamma_4b\gamma_5c\gamma_6a[a\gamma_2b=b\gamma_2a] => a\gamma_1b\gamma_2c\gamma_3a=$  $a\gamma_1b\gamma_2c\gamma_3a\gamma_4b\gamma_5c\gamma_6a[c\gamma_3a=a\gamma_3c] => a\gamma_1b\gamma_2c\gamma_3a=$  $a\gamma_1 a\gamma_2 b\gamma_3 c\gamma_4 a\gamma_5 b\gamma_6 c\gamma_7 a [a\gamma_1 a=a]$  $=>a\gamma_1b\gamma_2c\gamma_3a=$  $a\gamma_1b\gamma_2a\gamma_3c\gamma_4a\gamma_5b\gamma_6c\gamma_7a$  [ $a\gamma_2b=b\gamma_2a$ ]. Hence S is left Conversely, assume that S is left semiregular then,  $a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1b\gamma_2a\gamma_3c\gamma_4a\gamma_5b\gamma_6c\gamma_7a =>$  $a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1b\gamma_2a\gamma_3a\gamma_4c\gamma_5b\gamma_6c\gamma_7a [c\gamma_4a = a\gamma_4c]$  $\Rightarrow a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1b\gamma_2a\gamma_4c\gamma_5b\gamma_6c\gamma_7a \ [a\gamma_3a = a] \Rightarrow$  $a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1a\gamma_2b\gamma_4c\gamma_5b\gamma_6c\gamma_7a \ [b\gamma_2a = a\gamma_2b] =>$  $a\gamma_1b\gamma_2c\gamma_3a = a\gamma_2c\gamma_4b\gamma_5b\gamma_6c\gamma_7a$  [ $a\gamma_1a = a \& b\gamma_4c =$  $c\gamma_4b$ ] =>  $a\gamma_1b\gamma_2c\gamma_3a$  =  $a\gamma_2c\gamma_4b\gamma_6c\gamma_7a$  [ $b\gamma_5b$  = b]. Hence S is left semi-normal.

Assume that S is left semi-normal then,  $a\gamma_1b\gamma_2c\gamma_3a =$  $a\gamma_1c\gamma_2b\gamma_3c\gamma_4a \Rightarrow a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1b\gamma_2c\gamma_3c\gamma_4a [c\gamma_2b =$  $b\gamma_2c$ ] =>  $a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1b\gamma_2c\gamma_3a\gamma_4c$  [ $c\gamma_4a = a\gamma_4c$ ] =>  $a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1b\gamma_2b\gamma_3c\gamma_4a\gamma_5a\gamma_6c \quad [b = b\gamma_2b \&$  $a = a\gamma_1 a$ ] =>  $a\gamma_1 b\gamma_2 c\gamma_3 a = a\gamma_1 b\gamma_2 c\gamma_3 b\gamma_4 a\gamma_5 c\gamma_6 a$  [ $b\gamma_3 c$  $= c\gamma_3 b \& a\gamma_6 c = c\gamma_6 a$   $\Rightarrow a\gamma_1 b\gamma_2 c\gamma_3 a =$  $a\gamma_1b\gamma_2c\gamma_3b\gamma_4a\gamma_5a\gamma_6c\gamma_7a$  [ $a\gamma_5a=a$ ] => =>  $a\gamma_1b\gamma_2c\gamma_3a$ =  $a\gamma_1b\gamma_2c\gamma_3a\gamma_4b\gamma_5a\gamma_6c\gamma_7a$  [ $b\gamma_4a = a\gamma_4b$ ]. Therefore S is Conversely assume that S is right right semi-regular. semi-regular  $a\gamma_1b\gamma_2c\gamma_3a$ then,  $a\gamma_1b\gamma_2c\gamma_3a\gamma_4b\gamma_5a\gamma_6c\gamma_7a$  $a\gamma_1b\gamma_2c\gamma_3a$ => $a\gamma_1 c\gamma_2 b\gamma_3 b\gamma_4 a\gamma_5 a\gamma_6 c\gamma_7 a[b\gamma_2 c = c\gamma_2 b \& a\gamma_4 b = b\gamma_4 a]$  $\Rightarrow a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1c\gamma_2b\gamma_4a\gamma_6c\gamma_7a$  [ $b\gamma_3b = b \& a\gamma_5a = b$ ]  $a] \Rightarrow a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1c\gamma_2b\gamma_4c\gamma_6a\gamma_7a[a\gamma_6c = c\gamma_6a] \Rightarrow$ 



 $a\gamma_1b\gamma_2c\gamma_3a=a\gamma_1c\gamma_2b\gamma_4c\gamma_6a$  [ $a\gamma_7a=a$ ]. Therefore S is left semi-normal.

## 3.4 Theorem:-

Any normal idempotent commutative  $\Gamma$ -semigroup S is left quasi-normal if and only if it is left and right semi-regular.

#### Proof:-

Let S be a normal idempotent commutative  $\Gamma$ -semigroup. Assume that S is left quasi-normal, then  $a\gamma_1b\gamma_2c=a\gamma_1c\gamma_2b\gamma_3c=>a\gamma_1b\gamma_2c\gamma_3a=a\gamma_1c\gamma_2b\gamma_3c\gamma_4a=>a\gamma_1b\gamma_2c\gamma_3a=a\gamma_1a\gamma_2c\gamma_3b\gamma_4b\gamma_5c\gamma_6a[a\gamma_1a=a\&b\gamma_4b=b]=>a\gamma_1b\gamma_2c\gamma_3a=a\gamma_1a\gamma_2b\gamma_3c\gamma_4b\gamma_5c\gamma_6a[c\gamma_3b=b\gamma_3c]=>a\gamma_1b\gamma_2c\gamma_3a=a\gamma_1b\gamma_2a\gamma_3c\gamma_4b\gamma_5c\gamma_6a[a\gamma_2b=b\gamma_2a]=>a\gamma_1b\gamma_2c\gamma_3a=a\gamma_1b\gamma_2c\gamma_3a\gamma_4b\gamma_5c\gamma_6a[a\gamma_3c=c\gamma_3a]=>a\gamma_1b\gamma_2c\gamma_3a\alpha\gamma_1a\gamma_2b\gamma_3c\gamma_4a\gamma_5b\gamma_6c\gamma_7a[a\gamma_1a=a]=>a\gamma_1b\gamma_2c\gamma_3a=a\gamma_1b\gamma_2a\gamma_3c\gamma_4a\gamma_5b\gamma_6c\gamma_7a[a\gamma_2b=b\gamma_2a].$  Hence S is left semi-regular.

Conversely, assume S is left semi-regular, then  $a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1b\gamma_2a\gamma_3c\gamma_4a\gamma_5b\gamma_6c\gamma_7a =>$  $a\gamma_1b\gamma_2a\gamma_3c = a\gamma_1a\gamma_2b\gamma_3c\gamma_4a\gamma_5b\gamma_6c\gamma_7a$  $[c\gamma_3 a =$  $a\gamma_3c \& b\gamma_2a = a\gamma_2b$  $=> a\gamma_1 a\gamma_2 b\gamma_3 c = a\gamma_2 c\gamma_3 b\gamma_4 a\gamma_5 b\gamma_6 c\gamma_7 a$  $[b\gamma_2 a =$  $a\gamma_2 b \otimes a\gamma_1 a = a \otimes b\gamma_3 c = c\gamma_3 b$  $=>a\gamma_2b\gamma_3c=$  $a\gamma_2 c\gamma_3 a\gamma_4 b\gamma_5 b\gamma_6 a\gamma_7 c$  [ $b\gamma_4 a = a\gamma_4 b\& c\gamma_7 a$  $=> a\gamma_2 b\gamma_3 c = a\gamma_2 c\gamma_3 a\gamma_4 b\gamma_6 a\gamma_7 c[b\gamma_5 b = b] =>$  $a\gamma_2b\gamma_3c = a\gamma_2c\gamma_3a\gamma_4a\gamma_6b\gamma_7c$  $[b\gamma_6 a = a\gamma_6 b] =>$  $a\gamma_2b\gamma_3c = a\gamma_2a\gamma_3c\gamma_6b\gamma_7c$   $[c\gamma_3a = a\gamma_3c] = >a\gamma_2b\gamma_3c =$  $a\gamma_3 c\gamma_6 b\gamma_7 c$  [ $a\gamma_2 a = a$ ]. Hence S is left quasi-nromal.

Assume that S is left quasi-normal then,  $a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1c\gamma_2b\gamma_3c => a\gamma_1b\gamma_2c\gamma_3a =$  $a\gamma_1c\gamma_2b\gamma_3c\gamma_4a$  $a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1a\gamma_2c\gamma_3b\gamma_4b\gamma_5c\gamma_6a\gamma_7a$  $[a\gamma_1 a =$  $a \& b \gamma_4 b = b$  $a\gamma_1b\gamma_2c\gamma_3a$  $a\gamma_1 a\gamma_2 b\gamma_3 c\gamma_4 b\gamma_5 a\gamma_6 c\gamma_7 a$  $[c\gamma_3 b = b\gamma_3 c \& c\gamma_6 a =$  $a\gamma_1b\gamma_2a\gamma_3c\gamma_4b\gamma_5a\gamma_6c\gamma_7a$  $a\gamma_6 c$ ]=>  $a\gamma_1 b\gamma_2 c\gamma_3 a$  $=>[a\gamma_2b=b\gamma_2a]$ =>  $a\gamma_1b\gamma_2c\gamma_3a$  $a\gamma_1b\gamma_2c\gamma_3a\gamma_4b\gamma_5a\gamma_6c\gamma_7a$  [ $a\gamma_3c=c\gamma_3a$ ]. Therefore S is right semi-regular.

Conversely assume that S is right semi-regular then,  $a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1b\gamma_2c\gamma_3a\gamma_4b\gamma_5a\gamma_6c\gamma_7a => a\gamma_1b\gamma_2a\gamma_3c = a\gamma_1c\gamma_2b\gamma_3b\gamma_4a\gamma_5a\gamma_6c\gamma_7a [b\gamma_2c = c\gamma_2b \& b\gamma_4a = a\gamma_4b \& c\gamma_3a = a\gamma_3c] => a\gamma_1a\gamma_2b\gamma_3c = a\gamma_1c\gamma_2b\gamma_4a\gamma_6c\gamma_7a [b\gamma_3b = b \& a\gamma_5a = a \& b\gamma_2a = a\gamma_2b] => a\gamma_2b\gamma_3c = a\gamma_1c\gamma_2b\gamma_4a\gamma_6a\gamma_7c [c\gamma_7a = a\gamma_7c \& a\gamma_1a = a] => a\gamma_2b\gamma_3c = a\gamma_1c\gamma_2b\gamma_4a\gamma_7c [a\gamma_6a = a] => a\gamma_2b\gamma_3c = a\gamma_1c\gamma_2a\gamma_4b\gamma_7c [b\gamma_4a = a\gamma_4b] => a\gamma_2b\gamma_3c = a\gamma_1a\gamma_2c\gamma_4b\gamma_7c => [c\gamma_2a = a\gamma_2c] => a\gamma_2b\gamma_3c = a\gamma_2c\gamma_4b\gamma_7c [a\gamma_1a = a].$  Therefore S is left quasi-normal. **3.5 Theorem:-**

An idempotent commutative  $\Gamma$ -semigroup S when normal is left quasi-normal if and only if it is left and right semi-normal.

#### Proof:-

Let S be a normal idempotent commutative  $\Gamma$ semigroup. Assume S is left quasi-normal then,  $a\gamma_1b\gamma_2c = a\gamma_1c\gamma_2b\gamma_3c => a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1c\gamma_2b\gamma_3c\gamma_4a$ . Hence S is left semi-normal.

Conversely assume that S is left semi-normal then  $a\gamma_1b\gamma_2c\gamma_3a=a\gamma_1c\gamma_2b\gamma_3c\gamma_4a=>a\gamma_1b\gamma_2a\gamma_3c=a\gamma_1c\gamma_2b\gamma_3a\gamma_4c[c\gamma_4a=a\gamma_4c\&c\gamma_3a=a\gamma_3c]=>a\gamma_1a\gamma_2b\gamma_3c=a\gamma_1c\gamma_2a\gamma_3b\gamma_4c[b\gamma_2a=a\gamma_2b\&b\gamma_3a=a\gamma_3b]=>a\gamma_2b\gamma_3c=a\gamma_1a\gamma_2c\gamma_3b\gamma_4c[a\gamma_1a=a\&c\gamma_2a=a\gamma_2c]=>a\gamma_2b\gamma_3c=a\gamma_2c\gamma_3b\gamma_4c[a\gamma_1a=a].$  Hence S is left quasi-normal.

Assume that S is left quasi-normal, then  $a\gamma_1b\gamma_2c = a\gamma_1c\gamma_2b\gamma_3c => a\gamma_1b\gamma_2c\gamma_3a =$   $a\gamma_1c\gamma_2b\gamma_3c\gamma_4a => a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1b\gamma_2c\gamma_3c\gamma_4a => [c\gamma_2b = b\gamma_2c] => a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1b\gamma_2c\gamma_4a => [c\gamma_3c = c] => a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1b\gamma_2b\gamma_3c\gamma_4a[b = b\gamma_2b] =$   $> a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1b\gamma_2b\gamma_3c\gamma_4a[b = b\gamma_2b] =$   $> a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1b\gamma_2c\gamma_3b\gamma_4a[b\gamma_3c = c\gamma_3b]$ . Hence S is right semi-normal.

Convesely, assume that S is right semi-normal, then  $a\gamma_1b\gamma_2c\gamma_3a = a\gamma_1b\gamma_2c\gamma_3b\gamma_4a => a\gamma_1b\gamma_2a\gamma_3c = a\gamma_1c\gamma_2b\gamma_3b\gamma_4a[c\gamma_3a = a\gamma_3c\ \&b\gamma_2c = c\gamma_2b] => a\gamma_1a\gamma_2b\gamma_3c = a\gamma_1c\gamma_2b\gamma_3a\ [b\gamma_2a = a\gamma_2b\ \&b\gamma_3b = b] => a\gamma_2b\gamma_3c = a\gamma_1c\gamma_2a\gamma_3b\ [b\gamma_3a = a\gamma_3b\&a\gamma_1a = a] => a\gamma_2b\gamma_3c = a\gamma_1a\gamma_2c\gamma_3b[c\gamma_2a = a\gamma_2c] => a\gamma_2b\gamma_3c = a\gamma_2c\gamma_3b => a\gamma_2b\gamma_3c\gamma_4c = a\gamma_2c\gamma_3b\gamma_4c => a\gamma_2b\gamma_3c = a\gamma_2c\gamma_3b\gamma_4c[c\gamma_4c = c].$  Hence S is left quasi-normal.

An idempotent commutative  $\Gamma$ -semigroup S is left regular implies it is left and right normal, when it is normal. **Proof:** 

Let S be a normal idempotent commutative  $\Gamma$ semigroup. Assume that S is left regular, then  $a\gamma_1b\gamma_2a=$   $a\gamma_1b=2a\gamma_1b\gamma_2a\gamma_3c=a\gamma_1b\gamma_2c=2a\gamma_1a\gamma_2b\gamma_3c=$   $a\gamma_1c\gamma_2b=[b\gamma_2a=a\gamma_2b\&b\gamma_2c=c\gamma_2b]=2a\gamma_1b\gamma_2c=$   $a\gamma_1c\gamma_2b[a\gamma_1a=a]$ . Therefore S is left normal.

Assume that S is left regular then,  $a\gamma_1b\gamma_2a = a\gamma_1b => a\gamma_1b\gamma_2a\gamma_3c = a\gamma_1b\gamma_2c => a\gamma_1a\gamma_2b\gamma_3c = b\gamma_1a\gamma_2c$  [ $b\gamma_2a = a\gamma_2b\otimes a\gamma_1b = b\gamma_1a$ ]  $=> a\gamma_2b\gamma_3c = b\gamma_1a\gamma_2c$  [ $a\gamma_1a = a$ ]. Therefore S is right normal.

### **CONCLUSION:-**

In this paper, it is proved that any left quasi-normal idempotent commutative gamma semigroup is both left and right semi-normal. Left regularity will be both left and right normality. A left quasi normal idempotent commutative gamma semigroup is both left and right semi-regular. A semi-normal gamma semigroup is both left and right semigroup, if it is a left semigroup.



#### REFERENCES

- [1] P. Biryukov, "Some algorithmic problems for finitely defined commutative semigroups," Siberian Math.J.8(1967), 384-391.
- [2] A. H. Clifford and G. B. Preston: "The algrbraic theory of semigroups" Math.surveys7;vol.I Amer.math.soc 1961.
- [3] A. H. Clifford, "Totally ordered commutative semigroup", Bull. Amer. Math.soc.64(1958), 305-316.
- [4] David. McLean "Idempotent Semigroups" Amer.math.monthly; 61;110-113.
- [5] Dutta, T.K. Chatterje, T.K." Green's equivalences on  $\Gamma$ -semigroup" Ball col. Soc. 80(1987), 30-35.
- [6] J. M. Howie "An introduction to semigroup theory" Academic Press (1976).
- [7] J. Justin\* "Characterization of the Respective Commutative Semigroups" Institute de Recherche d' Informatique et d' Automatique, France communicated by P. M.Cohn Received September 28, 1970.
- [8] Miyuki Yamada and Naoki Kimura "Note on idempotent semigroup II" Proc. Japan Acad. 34;110(1958).
- [9] M. K. Sen, On Γ-semigroups, Proc. Of the Int. Conf. on Algebra and its' Appl. Decker Publication, New Yourk 301(1981).
- [10] Naoki. Kimura "The structure of idempotent semigroup(1) Proc.Japan Acad., 33, (1957) P.642.
- [11] Naoki. Kimura "Note on idempotent semigroups I". Proc. Japan Acad.,33.642(1957)
- [12] Naoki. Kimura "Note on idempotent semigroups III". Proc. Japan Acad.,34.113(1958)
- [13] Naoki. Kimura "Note on idempotent semigroups IV identities of three variables". Proc. Japan Acad.,34,121123(1958)
- [14] P. Sreenivasulu Reddy & Mulugeta Dawud "Structure of Regular Semigroups".

- [15] M. A. Taiclin, "Algorithmic problems for commutative semigroups", Soviet Math.Doki.9(1968), 201-204.
- [16] M. A. Taiclin, "On the isomporphism problem for commutative semigroup", Math.USSR Sb. 22(1974), 104128.
- [17] Sen, M. K. Saha, N. K." On  $\Gamma$ -semigroup I. Bull. Col. Math. Soc. 80, Saha N. K., (1988) pp. 180.
- [18] Saha, N. K.:" On *Γ*-semigroup II. Bull. Col. Math. Soc. 79, (1987), pp. 331-335.
- [19] Saha, N. K.:" On *Γ*-semigroup III. Bull. Col. Math. Soc. 80 (1987) 30-35.

TS ... MERELOPINE